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(&9 - A4/
7 1 A4 57 2]
(FAAEHA7IF) (FHFaFHA7T)
40nr ©]% 1,663
40m' %3 ~ 50m* |8 1,681
50m %3 ~ 60m' )3} 1,643
5% ol &} 60m %3 ~ 85m' o]} 1,625
85m Z3 ~ 105m* ©] 3} 1,674
105m %3 ~ 125m* °] 3} 1,649
125m %3} 1,628
40mr ©] &} 1,779
40m' =3 ~ 50m ©]s 1,799
50m' %3 ~ 60m’ °] s} 1,757
6~10% o] 3t 60m %3 ~ 85m* ]} 1,739
85m Z3 ~ 105m* °] 3} 1,791
106m =3 ~ 125m' ©]3} 1,764
125m %= 1,742
40mr ©]% 1,670
40m' %3 ~ 50m* |8 1,688
50m %3 ~ 60m' |8 1,649
11~15% o]3} 60m =3 ~ 8m' ©]s} 1,632
85m %3 ~ 105m' ] 1,680
105m %3 ~ 125m' °]3 1,655
125m %= 1,635
40mt o] & 1,688
40m %3 ~ 50m o] 1,707
16~255 olst S0m 23 ~ 60m o]% 1,668
60m %3 ~ 85m' o] 1,650




8m %3 ~ 105m' °]s} 1,699
106m" =¥ ~ 125m' ©]3} 1,674
125m' %3} 1,653
40m ©]% 1,715
A0m' %3 ~ 50m* o] 3f 1,734
50m 23 ~ 60m' ©]a} 1,694
26~30% ©l 3} 60m %7 ~ 85m' ©|s 1,677
8m %3 ~ 105m' o] s} 1,725
105m' %3 ~ 125m' ©]3} 1,700
125m' =3} 1,680
40m' o] &f 1,742
40m =3 ~ 50m’ °|s 1,762
50m 23 ~ 60m' ©]a} 1,721
31~35% ©]3} 60m =¥ ~ 8m' ©]s} 1,703
8m %3 ~ 105m' °] s} 1,753
106m" =¥ ~ 125m' ©]3} 1,726
125m' =3} 1,706
40m' o) &} 1,769
40m =3 ~ 50m’ °|s 1,788
50m 23 ~ 60m’ ©]3} 1,748
362 o4t 60m =3 ~ 8m' ©|s 1,730
8m %3 ~ 105m' °]s} 1,780
105m' =3 ~ 125m' ©]3} 1,753
125m' &3} 1,733
2. A8t
(F9: Hd/nf)
T ' 2 8} 571 F 1]
(FAHNELHA7]F) (X 3tE A 7))
85m o] 3} 917
85m =7 965




